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1.  Provide a short answer to each of the following:


a.  Sketch a graph of the best risk/return possibilities obtainable by combining the feasible set with riskless borrowing and lending.  Also discuss what movement along this line accomplishes.


b.  Why would investors be more concerned with real returns that nominal returns?


c.  What is the danger in using historical data to estimate the beta of an asset you are considering investing in?


d.  Discuss who theoretically protects society’s interests when these interests come into conflict with those of the stockholders of a firm and why this protection might fail to materialize.  (Note:  I am looking for the underlying reason for the failure not specific examples of a failure or of why the failure might occur)


e.  What conditions must occur in order for us to actually earn the yield to maturity on a bond?








2.  You have just been hired by the owner of Backwoods Inn, Inc.  For years, the firm has based expansion decisions on average return on book value.  Discuss with your boss why he should base expansion decisions on net present value instead.





3.  Assume that you will have income this year of $3500 and income next year of $5000.  Assume also that your bank has informed you that for the next year, you may either borrow or lend at 9% per year.  Finally, assume that you have determined that you should optimally invest $2000 in real assets and that this real investment will pay off $3000 one year from today and that you would like to consume $6000 one year from today.


a.  Graph your income, optimal real investment, and all consumption possibilities both before and after your real investment.


b.  Given your desire to consume $6000 one year from today, calculate and show graphically you greatest possible consumption this year?


c.  Calculate and show graphically the impact on your wealth of the real investment.


d.  Suppose that just before you undertake your investment in real assets, you call your banker one last time, and he informs you that interest rates have just dropped to 4.5% (for either borrowing or lending).  Are you better off or worse off?





4.  Suppose that the current one-year rate of interest is 5.08% and that the current two-year rate of interest is 5.82%.  Also assume that the inflation risk hypothesis is correct?


a.  What is the forward rate for the second year?


b.  What is your best estimate of what the one year rate of interest will be one year from today?


c.  Explain the rationale behind the relationship between your answers in part a and part b.


d.  What kind of transaction would you undertake in order to earn the rate in part a?


e.  What kind of transaction would you undertake in order to earn the rate in part b?





5.  You have calculated the following information:


The expected return on Picard Leadership Training Inc. is 14%


The expected return on the Federation Academy Inc. is 8%.


The expected return on the S&P 500 is 13%


The return on Treasury bills is 5%


The standard deviation of returns on Picard Leadership Training Inc. is 18%


The standard deviation of returns on the Federation Academy is 7%.


The standard deviation of returns on the S&P 500 is 13%


The correlation between Picard Leadership Training and the S&P 500 is 0.88.


The correlation between the Federation Academy and the S&P 500 is 0.62.





a.  Construct an arbitrage portfolio with Picard.  Be sure to demonstrate that all of the conditions of arbitrage are satisfied.


b.  How will this arbitrage affect Picard, the S&P 500, and Treasury bills?
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6.  Your firm, Klingon Publishing Inc., is considering building a new printing facility in order to meet excess demand.  You have estimated that construction costs for the plant will be $500,000 today and $100,000 per quarter beginning 2 months from today and continuing for 8 quarters.  You have estimated that net monthly cash flows will begin 6 months from today.  The first such inflow is estimated to be $10,000 and each subsequent cash flow is expected to increase by 1% (above the previous month) through 10 years from today.  In addition, 10 years from today, you expect to incur closing costs of $150,000.  If the required return on the plant is 8% per year compounded quarterly, should the plant be built?








Check Figures:





1.  a.  graph of feasible set, rf, tangency at M; discussion of adjusts risk/return to match preferences; b.  consumption rather than $;  c.  reflect future?; d.  gov’t, has own interests; 	e.  hold to maturity; flat, stable yield curve; no default


2.  main points:  based on accounting values, ignores timing, ignores risk; npv measures impact on firm value


3.  b.  3334.86; c. 752.29; better off


4.  a.  6.565%; b. < 6.565%; c. main points:  1-year rate compensates for inflation over next year, 2-year rate compensates for inflation over next 2 years, unexpected inflation more likely over 2-year horizon => real return on 2-year investment riskier => 2-year interest rate contains premium => forward rate > expected future spot rate; d. buy 2-year bond and hold for 2 years; e. wait until next year then buy 1-year bond


5.  a.  XPicard = -1, XM = 1.2185, Xrf = -.2185; restore equilibrium by decr. price of Picard, increase (a little) price of market, decrease (a little) price of risk free asset


6.  Build since NPV = 40818.05 > 
